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R RENFEHIS (A15) 2B B #H

L5 EFGHRHME: 256
(EEISHERESD)
mn &n EEHh EIFEE = (ke) R b tExIER 5|
AH HY5E Axt Hfike) | S1EM) FE(E) ZEM) =1ErFE) FE(E) ZEM)
130100 [ \CA a3 23,289
FIE 2,250 0 2,250 10 1,188 864
alll 9,599 300 9,299 15 756 864 756
£E 4105 0 4,105 10 972 432
me 6,000 1,630 4370 10 1,296 540 1,296 648
130340 [FIZALA g 18,690
dbimE 11,700 0 11,700 10 - - - 1,944 950
FIE 3,000 0 3,000 10 1,944 756
RiF 2,650 0 2,650 10 1,750 756
130400 [Z %5 g 558
dtiEE 100 0 100 10 1,080
It 450 0 450 10 - - - 1,447
130600 |[NWACA g 2,762
i LU 165 0 165 5 2,700 1,080
me 2,345 0 2,345 5 - - - 4,320 648
131100 | % 48,196
p3: 20,610 2,800 17,810 15 540 1,728 324
£ 23,100 19,350 3,750 15 972 324 972 540
£EE 1,486 1,005 481 13 756 756
IR 3,000 600 2,400 15 432 864 432
131700 | F ¥ RY 3 56,826
R 12,400 4,355 8,045 10 918 486 972 486
BHE 1,800 1,800 0 10 594
£ 2,750 750 2,000 15 1,053
50 16,210 4,260 11,950 10 918 486 972 594
£E 14,066 5,281 8,785 12 864 378 972 216
131800 [IF5NAE 3 4,968
EE 598 438 160 0.2 157 76 135
me 542 2 540 0.08 76
G0 3,150 0 3,150 0.18 140 76
131910 [T 3 2,861
N 52 0 52 0.5 302
£EE 83 8 75| 05 302 302 270
i Ll 490 70 420 1 389 972 216
Il 1,219 0 1,219 10 3,132 2,430




TH2511 A 108 (KER)
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B i3I bR S =y 256 v
(I HEREFST)
mn &n i EIFEE = (ke) R b tExIER 5|
AH Y5 HExt Hiike) | &EAE) | HEFE) | ®EME) | &EME) [ FEFE) [ RiEFE)
iR 885 0 885 10 3,132 2,700
(S5 34 0 34 01 86 43
131950 |[A T 3 6,954
£E 774 105 669 35 1,512 1,512 864
B 3,300 390 2,910 3 1, 620 1,080 1,728 648
hE 405 0 405 5 950
133400 [L AR g 27,966
Ik 7,660 2,391 5,270 10 1,458 648 1,404 648
EE 19,306 3,570 15,736 10 1,728 864 1,728 432
] 1,000 200 800 10 1,944 1,512 1,944 972
134100 |81 3 14,057
Lz 275 0 275 5 1,242 1,188
== 260 0 260 5 1,350 1,242
HE 1,625 610 1,015 5 1,728 1,339 1,728 1,080
EE 542 160 382 5 1,944 2,052 1,728
E| 1,255 270 985 5 1,728 1,404 2,160 864
iR 2,850 370 2,480 5 1,836 1,404 2,268 1,134
= 1,295 895 400 5 2,160 1,458 1,458 540
e 295 0 295 5 1,458
= 1% 4,400 625 3,775 5 Z 160 1, 458 2,160 1,242
134200 | = I 3 1,500
—a—ALR=7 1,500 0 1,500 10 - - - 1,728 1,620
134300 |HF B3 6,475
£E 75 60 15 5 950 648 648
= 60 40 20 5 1,080 972 1,080
EE 902 130 772 2 1,080 756 1,080 540
=450 4,163 640 3,523 5 2. 052 2,376 972
i 1,028 62 966 0.3 184 194 157
134400 [F=<k g 4,688
50 100 0 100 05 308
£EE 1,136 0 1,136 4 2,592 1,296
REAR 3,084 276 2,808 4 Z, 916 Z, 052 2,808 1,620
134500 |[E—< > i 4,184
£E 786 0 786 0.15 65 26
iR 36 0 36| 0.15 43 32
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L5 ENFEHaE 256 K
(EEISHERESD)
mn &n EEHh EIFEE = (ke) R b tExIER 5|
AH Y5 Xt Hfike | 2EE) | pEEA) [ REA) [ SEE) | $EFE) | REFA)
=0 594 45 549 0.15 76 86 65
= 2,688 704 1,984 0.13 11 66 79 65
135100 |LVAITA 3 120
FFrl 50 0 50 2 1,512 1,080
=450 40 10 30 2 Z. 700 2,376 2,160
IR 30 0 30 2 1,296 1,080
135200 | B = 3 60
Faxl 60 10 50 /] 4, 320 Z.916 4536 1,944
136100 [MAL & w 14,788
=) 4,460 555 3,905 5 1,998 1. 026 1,998 648
= 5 885 0 885 5 1,512 756
136200 |EEZE g 1,530
dtiEE 1,530 0 1,530 10 - - - 1,415
136210 [A—D 1> g 5,720
JtiEE 5,720 1,450 4,270 10 1,793 1,220 1,836 1,112
136300 (B3 % 2,320
25 2,120 720 1,400 10 Z.434 1,944 3,564 864
hE 200 0 200 10 1,404
136600 |f-F 1= a3 650
dtiEE 50 0 50 10 1,836
EE 600 600 0 10 1,944 1. 188
138100 [ELULV=IT g 4,054
£EE 350 55 295 0.1 151 97 130 86
] 3,088 637 2451 0.2 259 173 248 108
138500 |[LOLE i 2,749
% 2,696 422 2274 0.2 91 86 97 86
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8% ENFEHaE 596 ki
(EEISHERESD)
mn mn EEHh EIFEE = (ke) iR b tExIER 5|
AH HY5E Xt Hfike | 2EAE) | pEEA) [ REA) [ SEE) [ $EFE) | RiEFA)

240400 | BB M A A A 3 29,246

FFrl 13,080 0 13,050 10 3,780 648

me 1,887 1,587 300 10 2,916 2,160 1,944 1,404

&Il 3,186 1,680 1,506 10 2,916 2,160 2,700 1,728

B 11,093 11,093 o 10 1, 296 102
241470 [EADA g 19

= 19 0 19 0.25 - - - 389 356
242320 |Pa+d—ILK g 2,020

AF 2,020 2,000 20 10 3. 240 3. 024 3,780 3,564
242830 | S\CYA T g 1,650

T 530 0 530 10 3,024 1,987

Il 1,120 1,120 0 10 1,944 1,296
243610 |EAME 3 7,260

=B 4,460 4,460 0 10 3. 780 864

T 2,700 150 2550 75 2,672 4,320 1,728

12 100 100 0 10 3,340
243700 |L S 3 4578

= 1,468 1,468 0 10 2,376 1,296

mE 3,110 660 2,450 10 2.376 1,944 2,484 1,080
243710 | FiZEMS g 10,980

=B 585 585 o 1.5 1, 458 156

FOFrl 10,395 0 10,395| 75 3,564 1,080
243740 |/ ME 3 2,630

] 2,630 1,880 750 10 Z 434 1,296 2,376 1,296
243770 |FHEME 3 615

S 480 75 405 5 2. 484 2,484

i L 135 9 126] 05 194 216 162
245230 |BEIESES g 298

Pt 298 123 175 0.35 594 432 594 432
246000 [\ 7Y 18

=il 12 0 12 0.3 1,620 1,512

RIG 6 6 o 025 1,296 1,080
247100 [7—ILZ2 A0 g 236

E4 i 204 85 119] 8.5 15, 120 8. 640 15,660 6,480

50 32 32 0 8 6,480 5,400
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i e Bk VI S
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A H H5E ERSNNE] PEHI e P | R AE(FD | Z2fE(m) PEHH (M) | FEFD) | Z2E(m)

101 [RARE-W 36 8 28] Kg |fuhE 2,376 =35 2,160 1,080
102 |FepHizu 1,471 1,471 Kg g 1,512 324
111 | ED 674 4 670 Kg [FERE 864 1R JRE LS 1,134 270
113 [RAROLD 2 1 1 Kg |[FpE 1,945 594 Fe )i 2,700

114 |#HH 144 144 Kg HiE[E] 2,376 540
115 [z 2 1 1 Kg [ 756 o 2,700 1,296
117 [i3% 102 6 96] Kg [JuhE 324 54| FoJE 1,188 324
121 [pbixE 149 105 44 Kg |&= 2,160 432[ )i 1,620 810
134 [7== 540 161 379 Kg |REE 1,728 648 = - S 2,160 600
137 |5 181 145 36 Kg [REL 2,700 1,944 )& 3,672 2,430
140 [5iZ 8 8 Kg deviEiE 35,640 18,000
147 |HEZ W 92 92 Kg Rl - yhie 6,480 4,000
158 | AIED 315 315 Kg e 1,512 918
203 [/h&HL 164 164 Kg Lo 324 189
205 [AHC 5 5 Kg T 518

206 |=iE 1,149 56 1,093 Kg [|&H 81 i [E] - Rk 4,000 281
207 |&AE 340 340 Kg =8 1,215 810
208 [0k 200 200 Kg = IRy 1,620 374
209 [TV 10 10 Kg B 562

210 [iFA VD 40 40 Kg [EF 6,480 2,322

212 |#H5D 325 325 Kg ) 1,620 756
222 |[OBZ 341 341 Kg ] 360 162
251 [KAESTH 46 16| Kg 7 3,132

252 |VWAEESA 115 115 Kg  |#%] 3,078 2,927

254 [xbIEESAH 855 855 Kg i - T 1 1,404 648
303 [HLAZEW 6 6 Kg KRy 480

305 [EARn-ok 88 70 18] Kg |REE 1,458 918[ K% 3,996

315 |65k 20 15 5] Kg [K%& 2,160 Koy 2,160

319 [&h5 2,107 2,107 Kg )1 - S 1,296 351
332 |1 @A e 316 316 Kg E|RES 1,620 1,026
351 |%EE 11 5 6 Kg |7 3,996 deviEiE 15,660 11,340
354 [ITESH 85 18 67] Kg [T 1,404 675| T I 1,404 756
355 [HD 180 5 175]  Kg [#EX 864 A« 550 1,080 500
356 |LUZ& 125 125 Kg 55 864

357 |JRE 31 31 Kg HiE[E] 1,728 990
358 | xE 24 24 Kg S 1,620 972
362 |/ 287 4 283 Kg |I&E 1,566 ST i 3,240 810
401 | 28 28 Kg M7 B2 864 648
402 |H7pE 18 18] Kg I 4,752 4,428
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AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
507 |o—/tu s 10 10 Kg 7 702
512 [ 50 50  Kg E[RES 850 780
523 |WmEEAM 2O 555 555 Kg A )7 S 4,536 378
524 | TrE O 26 26 Kg FE 7 3,456 1,512
554 [SIF ®A AR 30 30 Kg B[RES 560
558 |IRfA 20 20 Kg B|&ES 950 702
560 [@mE7-Z 75 75 Kg Fi 7 1,820 1,050
566  |WENIT 66 10 56 Kg |db¥E 3,456 v rE 7 6,048 2,900
576 [T 50 50 Kg B[RES 635




TR2EELL A 10H CKIER)

F A TR NS T S (AE5) HE H

L HEIbnA ot = 3.5 %
(mAs I X VE B B 5 Te)

o ek Hh5E ES
;‘ﬁ ;:ﬁ':% ﬁﬂ) iri ( g) _ ﬁm‘%ﬁﬁl : — J - : 4—1: TE&%H -

AH H5E FAXIEA | FE M A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
701 |[BYOA 1,690 1,690 Kg |EE 2,214 916
713 |[LLbALT 6 6 Kg Aty 3,060
751 [FE T 45 45 Kg |JufE 792
755  |BHL 32 32 Kg bvE 748 720
756  |BHANET 8 8 Kg R 1,026
761 | BUDAE L 18 12 6 Kg |fE 1,620 1,539 Fn ek L 1,692
763 [T 80 80 Kg |EE 4,320 3,273
768 |[&E7=Z 14 14 Kg FE 7 1,925 1,900
801 |HEACXLT 417 417 Kg E[RES 1,350 702
805 [HXIT 964 964 Kg B|RES 756 324
807 |[¥EEkD 49 49 Kg E[RES 6,588 3,672
810 [B K+ 134 134 Kg B|RES 1,944 378
815 [—~WEAF 33 33 Kg deviEiE 1,051 626




